Exercise 7C
1
If you invest £10 000 at 6.5% per annum compound interest how much will it be worth in ten years time if the interest is compounded annually.

2
Your family runs a fish and chip shop. They use a deep fat fryer which needs replacing every five years. The manufacturer who sells the fryers estimates that the next one will cost you £10 000 in five years time. If you wish to invest a lump sum now at 6.5% compound interest over the next five years, how much should it be in order to produce the £10 000 in five years?

3
An alternative method of producing the money required for the equipment in question 2 is to invest a regular amount each year for the next five years at the same rate of interest.  How much should this annual amount be?


4
It is possible that part of the payment for the new fryer will be produced from the scrap value of your present one. The fryer you have at the moment is new and cost £8 000 this year. You estimate  that it will depreciate in value by 15% of its purchase price per year, i.e. by straight line depreciation.  How much will it be worth as scrap value in five years time?
5
On the other hand, it might be more realistic if the fryer depreciates by 15% of its value at the start of each year during that year. How much will it be worth as scrap value in five years time?

6
The fryer manufacturer has stated that he will be willing to accept your old fryer in part exchange allowing you £1500 for it.  What does he assume will be the rate of straight line depreciation experienced by your current fryer?
You buy your fresh fish in daily but the chips, which  are frozen, are bought in bags of 10 kilograms costing £5 each. They can be stored for up to one year.
 
You need to know how many bags to buy at any one time in order to minimise your ordering and storage costs. You estimate the annual usageof chips to be 7000 kilograms.You pay £4 per delivery irrespective of order size. You also estimate that the cost of storing the chips is £1.50 per bag per month. If the order size is q bags: 
7
What are the annual ordering cost and stockholding costs in terms of q?

8
Find the value of q which minimises the total cost.  How much is the total cost?
 
You have just increased the price of a standard portion of your fish and chips but expect your sales to decrease as a result. You have been selling 3500 standard portions per month at an average price of £3.50.  After you increase your average price to £4.00 you notice that your sales have reduced to 3000 portions per month.
 9
What is the formula relating demand (D) to price (P)?  What has been the change in annual income from these pizzas?  
10
How many portions do you need to sell at £4.00 each to avoid a decrease in income?
